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Lesson 8.4  Areas of Regular Polygons

Name &\k/QA A Period Date
N

In Exercises 1-3, the polygons are regular.
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4. In a regular n-gon, s = 4.8 cm, a = 7.4 cm, and A = 177.6 cm?. Find n.
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Lesson 8.5 * Areas of Circles

Name Period Date

In Exercises 1—4, write your answers in terms of .
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In Exercises 5-8, round your answers to the nearest 0.01 unit. P -
136 - :# wie 39
5.1f r = 7.8 cm, A =~ (0.8 o™ 6. If A = 136.46, C =~ 32w 1 v
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For Exe 9 and 10, refer to the figure of a g€ inscribed
in an equilatel® g7s to the nearest
0.1 unit.

ribed circle.

9. Find the area of the

10. Fi e area of the shaded region.

ea of the shaded

ercises 11 and 12, find th
s in terms of 7.

is a square.
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Lesson 8.6 * Any Way You Slice It

Period

Name
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In Exercises 1-6, find the area of the shaded reglon Write your answers in
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9. Shaded area is 5177 cm?.
The diameter of the larger
circle is 20 cm. Find r.
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Shaded area is 407 cm?.

7. .
Find r. Find x.
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